) ASSEMBLY
Product Name . INSTRUCTION

55" computer desk with monitor shelf

01



HELPFUL HINTS

@© BEFORE YOU START A CAUTION

@ Inspect product packaging to ensure the appearance is good.
@ Read the assembly instruction carefully and follow it step by step.

@ To avoid any scratching, putting a soft blanket on the floor
is suggested.

@ Identify, sort and count all the parts with tags.

@ Find out installation position according to the drawing and install
itin correct steps.

@ Be cautious when using a power drill or power screwdriver.
@ Please be aware to slow down and stop when screw is nearly tight.
@ Do Not use any harsh chemicals or abrasive cleaners for this item.

@ Push, pull or drag this item carefully.

OTHER

@ People needed for assembly: 1-2
@ Estimated assembly time: 0.5-1 hour.

DETAILS

-

33.7"
29.7"

UNIT:INCH

02



PARTS LIST
-

| X1
~ < HRC
? -
\ I 5
Ri%i @ @
X 2 X2
(4) (5)
X 1 X 2 X2
0 i~ I 9
\_ \ X2 \ X2 X3 X y
ACCESSORIES LIST
( No. PICTURE SIZE | QTY | | No. PICTURE SIZE | QT7)
A YO Mx10 | 1 | | @ | D M6 5
"B Mex30 | 42 | (0@ | A M8-928 | 8
(G ] M6x35 | 6 o
@ %)_))))))))))))))))» ST5x50 8 )

03



4 )
STEP 1
3 You can install the shelf board in different
height to meet your need. Do not tighten
the screws before step 9 finished.
P ) M6x30 8 1 )

04



% Do not tighten the screws before step 9
finished.

p Qoo M6x35 4

( STEP 5

% Do not tighten the screws before step 9
finished.

p@m M6x10 1 | Qoo M6x30 4 | @@ O M6 51

STEP 6

w@%@% ley —

p@m M6x35 2]

05



P ) M6x30 10)

e

% Tighten the screws in this step.

p@m M6230 8\‘

e
% Tighten all screws in this
step when there is not gap.

p fromm Mex30 12 1

06



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

